CEE Pre-2607 |

Pt

1A

[{ the width of a carniage way is 35 m, then
what is 1) called?

1 Singic lnac

b Twolanes

¢ Intermediste lane

Jd. Mulu-iane

Which one of the Rilowing represents the
basic capacity of a ssnpde iana road!?

(LEYAR
I_.-’
LN
by
W
ELEET!
;IJ'
"
L fooar
h
Where V¥V = speed i bispgh. 5 = Aversge

celre W0 cenlre spacins of vehaeles nom. b
— Avarage time headwm betwesn (wo
vahicles in zeconds

Whar s e maximum number
passemiper cars 1t can Pass a piv
on a lane or roadway dunny o
ersdier 1deal rosdwas and trailic &
kitonwt ag?

a4 Practoal capaciy
b, Possible capacity
¢, Dasic capacity
d. Koad capacily

In highway
cumulaty

¢ design. once the
istribuion is drawmn, the
“19 cheched a1 whech

d l}':?'ih percentiie

What is the number if ovcles 10 pavement
fwlure, proporlional o7

a P
h B
¢c. P
d p-

Where, P g the mde dual applied load.

0,

.

{Consider the fallowing different singss of
pavamen conditions during Lile span nf a
road.

1. End of service ble.
2. bnd of optimom life
1 End of uselut life.

4 End of wismate lidc,

Which ome of the fo:loy

: A6A, uhu,il 84 wmp!-.—sl,.lv
mimdcr of voiumea G003 o, 2
What iz the shape of this

b Reanded

¢ lmegular

Jd. Tlaky

Which ¢ the following are the pamposes

for wse of steel bar remdorcement in

comard conende pavemens?

T icrgass 1he Mesural stengih ol
concrete.

2. Toprevent the onsad of eracks

3 Tosllow wider spacing ol qomis.

Select the correst amswer using e code

aiven helow:

a  1and 2 only

b Zand 3 only

c §and 3 only

d t.2and }

Fy witat percemaga iz lenglh ol o romwaa

increasad for every 3 m ase ahove lhe

MELY

a M

[ O

. O

d. T

L onizider the Fallowing statermmins

i. Mastic asphall ey sellHwalie

praperty



2. hdaste asphalt
poreentags of bitumen,

Synthetic aentextile is used to tnake
tnastic asphalt

conlai maore

tal

1. Mastie asphelt is wsed in heave dity
asgas

Which of (he slalewwents given above zre

comol?T

a. 1.2and 3

b. Zand 3 only

e L2 and 4

d 23and 4

What 15 lhe prme objeclve al proviching a

penil lock ?

i, To ensure thal cach swilches corecly
st

b. To ewswe that the point may not be

aperated whi'e the train i on it

Ta detect any obstruction betwezn

stock riul and Wwngue rail

e

o To himit the rding of the conical
wateror areumlerence of the wheels
Match List-I with List-Il and select the
corvect angwer wiing the code given below

the |ists:

List T (Force/Stress on 1ail)
AL Voerhizal Tnads

I Lateral forces

€. Lengitudinal forces
D. Contacl slresses
List I (Cause)

1. PBraking forces
Vheel and rafe
Shunting o

£x al b

£ 2
2 1 3
2 4 3
3 I 2

hal % the Tull width ol the land acyuired
hefore  finalizmg highway alignment.
known as?

a.  Width of formation

b. Kight of way

Co Camuage way

d. Rrad wav

Which one of the Jollowing methads s
vsually adopted for site wekling of rails?

16

20,

Jof 14
a. Gas prossure weldme
b. LFlectriz arc welding
Thermil welding
d. Flash butl welding
Which one of the following measures the
stiffness of 4 track?
a. Tractve eilor
b, Tractve resislance
c. lrack modulus
d. Load capacily

L

A croarmg oz’ hoe whe the
lollowimg delects?
a. Splitea head of ¢

d. e o the surface o rail
Wl the followmg tools s
1% g Ui wals B oaack

¥ Crowbar

d. Wire claw

The phencmenor of reflectiom cracking iz

obiarved in which one of the following?

a. Bilummous verlays provided ower
criched comenl conciste wr ntwinowows
paverments,

b. Cement concrete overlays provided
over cracked bituminous pavements.

¢, Bilummow  wverfays constructed  in
cald waather.

d. Cement concrele overlays  provided
over cement conercte pavements.

A gven Wwo-hmensimal  flow s

continuou: and mrigational. The velacity

cenponenl ¥ s grven by o - S Which
onz ol the lollewing expresses s -
comnponenl?

a. dxt 4yt

b, 4yt dxt

e d4xt 4yt

d. x1.x‘2|1r—r1r1r'1.'c

Which onc of “he followmng 18 pot essenbial

te derve the prmula used In constnuetmyg

a synthetic unil hvilrograph?

a. Time 1o peak

b, Peal fow



¢ Interflow
d. Titne base
An epen channgl camymg super cntical
tow 1s provided with a smoolh cxpansen
aleng the direction of flow. When no other

consideratiors  terere. than the water
wurface

o, Eefore lransiuon will rise

b,  After tranaition will 1ise

e Hetore transition will drap

. Aflertransilion will drop

Mormal hydraulic jomp has @ sequent

depth ratio of 8.0, The inittal depth ig 0.3

m. What is the approximate head loss

the jump?

i, 32 NmiN

b. 7.3 Nm'N

e 5.4 MmN

d 129 NmN

Malch List-I with List-Il and scloet the

comeel answer using the code given below

Che: Liala:

List [

A, Flow downstream of 2 sluice gats wth
mild bed slope of channel,

B. Flow wvpslrcam ol an overllow w
wilh crifical hed slope of channe

C. Flow downstream of 2 sluice
critical bed slope of channe]

Ir Flow upstream of a fre
tild bed slope of ch

List II

I O cumve

th

2 Maoeurve | Ay
C’ D
2 1
4 3
1 2z
3 4

Velooity measurements of flow through a
roagh  circular pipe  indicate thet  the
average velooity is 26 mis and the centre-
line welootts 10 317 ra'e. What te the
frictton factor for the pipzline?

o 0027

b, LA

c. U1z

. 0010

28,

249

KRt
Il the velocity potenl woal g — 4o, what
arc the & and v componeris of velocty at
the point {1,437
4, u=—lIh.v=—4
b, w —-dv -6
o Tay -4
Joow o 1o 16
Two  reservoetrs al ddlerent
clivatons are comnected by a
pipes A and B of same dian
in parallel If the fricion

a. .23
h. a4l
@, AL

te following is the correct

ary Toughness for the stated

{7~ fnetwen feclon, e

g8, Re - Revaold's rumber, I3 -

[ S

. For laminar Hew ; f - 640/Ee

k. Tor  turbulemt
honndaiy:

Lﬁ:?'lng Reof/ 08 Jir Re o 1L

J7

ow  wilh smooth

I.-"

" 1 Te 935"

¢ For ransition | ——=2log: —. —_—
'JI "\j 2 K
d. TFor  lwrbulenl  [low  wih  rough

1 o0
boundary : — = 2I:1g|
l\ E-I )l

A 10 em cha pipe carnies a fluid with
kinematics vieosity ol 023 Stokes  at
2270 (Mbe lew has to be erifical {al Re
20000, whal 1t the coTesponding velocity
ol [Tow?

a. ¥ mss
Ir. 8B ms

o 1 S
d. 1.5 msy

In a 40 e diameter pipeline, waer flows
with a mean velecity of 2 ma and the
shear siress at a radial diztanze of ) cm
frem the centerhne of the pipeline is 20 Pa,
What is the value of the Daey’s friction
cosfficiont?

a. oy



e L]

-

I 002
c. (i
d  0os

0. Match List [ wath Last-IT and select the
COMTEct answer Bsng the code oiven below
the hisls

List 1

Form drag,

Cireufation

Kurman vortex sireet

. Drag coefiicient for sphere
st T1
Re<w {15

Sepamtion  downastream of  a
sshmerged cylinder

M- ETNT

3 Magnus cffect
4 Hiutf objecrs

A b ¢ [3
#. 4 2 3 i
I | 3 2 4
C. ! J 2 !
d | z 3 4

On an extreme value probahilicy paper

(Gumbell, how do anaual raintall extremes,,

ol blogjed?
a. Hyvporboia

b. Pamabola
c. Straipht line
d Circle

i by tha
respect

=1

Which one of the follaws
mamesnt of momentum §
ol a retating system’
& Theangular
b ¥Yeotor su
aolin sl
ey

EHW is conserved

all external  toroes
A wolume 104 Tuid
e of change of Gincar

ultant force exerted on a body

equal to the rate of chanpe of

i pudur rnornenlug,

. The lomgue due W resultal (orce 15
eomal 1o Lhe cere al change of angola
NQMEeNTLUR

Congsider  Buler's  equation {or one-

dimensinnal (horizontal} unsteady flow In

i 20 cm diameter bhorizonial pipe, wuater

discharee ineredses fom 25 w0 1040 Bters

per second in 3 seconds Whm s she
pressure  gradiens thar can sustin tha

(T

i

LN
‘i

L |

LY}

4 af i

a. — SUT0 Pa‘m
b, - 7HOR Pa‘m
o~ 796 Pam
A

A circular cylinder 10 m diametar i<
plaved 1w awform sirearns of 22 mos
What is minimum speed of the oylinder for

imminent detached stapnation?

-

a “4Z0rpm

b. 43 rp m.

. Ballrpom.

d. REdrpm

In a4 lhree-dimensior pressible
How, the velaaty i 1 the ¥ and

¥+ +6  and
15 the  velooily
=i rection.

IERD

v diregfions A

V=T 20+ 7,

YWhich one of the followine statements is
coeret?
A Pwio=dimemmeonal vortex bas
a  Vomcity abour any circuler siream-
line incinding the arigin
Farp circilation arodind it

o Constant gircsdation sround any clased
parh inciuding the arwin

4 Constant cirenlation araund amy clased
path excloding che origin

- ttunke s

)
AT,

1

— | ——
What is the maximum tending moment at
mid-span of the heam given ahove?

e
H_ —_—
2
a
fi
oo :
o



an

)

d

S i
ardinate at the iocation 3 m from one
lnwer hinpe?

4. 225 units

i, Miatch Lisi=1 with Lisi=ll and sclece ihe

cewtect answer nsing the code givent below

the lisis:
List 1

List 11 (Maximuenm Beading Moment)

[ ard
A
" A
B
- ik
1.
3
l..|!-:
1 ..-u.
fr
A
A 3
b 4
. 3
d.
k1
4
;r'

bk == — 83 o

iis acted wpon by a
propped end. What s

ho 125 units
¢. T.123 units
|

1.0 unts
11,
I ]

e S e p—— e

A ]
AT ":_""_{_

T ¢

A fixed beam AB with a e C i

built of twe compoonen
"R has a mome
support A vields

I, When

£1a

e B L
AP

. &)
g N !

)
EI

’l

For a symmetrical comtinuous bheam s
shoewrn in the {igure given abuve, which
ane of the Talowing is eoreect in respeet af
distributing factors at B?

d A, rd,. =514

h, F,08, =1:2

- .3
C. ‘.;k-f"f!"h’" - a2

d. fi-m ::'i,_,__,. = 318

""" 13,

154, Ot e

C. - ;

.
g 20N, 3 !

£

40, A symmetric parabalic arch of span 12 m — _'_
and rise 4 m hus hinges ot springing and al ' o

the crown.

What is tlwe

influence  line



What (s the horszontal swaw ot the poaim A
of the portal frame shown in the figure
given abowvg?

PL
4 —
EY
ar
h  —
Qi
. [al
Cooee =
{2£!
Pt
d —
1587
44,
f':_'II
2w
AT ovr o T
A :
jt—'l),'lE
What s e fixed end momeni fine the
beamt shawn in the fignre given above?
a A,
b 244
3
A,
K]
r M,
&
43,
(L

e shown with loadings
@D oand €L owhat s the

o
12
NI f |
A
FEEL 12

h T {
R RV

o P4

_14 2
S .
T Mz

= 1]
!

] 2412

£
do 5
l‘jl a 12 —
/

43, For a laminated spring, ! — le -

mnmher of plates, width of cacg

thickness of cach platc = ¢
fpad — M What is the ;

ar af length /1 is unitarmly tapering
rinn a diameter d; at one end 10 a diameter
i; at the ulher end. The bar is subjected L
an teosilc lead 1. What is the  toral
elangarion?

44
i
i,
b, 4-P||'" _
abady
4T
Y T a
mhd d,
d 3_.”.’
i

[L = Young's modulos ol elasticiy)
48,

- wr—rrpr-le
ST

Whar iz values of stress ar the hase U0 tar
the bar shown in the lipure given dbove?

& 1667 Nimm®

b. 1333 Wimm’



C.MhAT NS
d 30 NemT

49
3. F':s
1EMSm
3 _»l-_ ';?:;'-rf_"rvzg?v r"-'g
,zf:,, _ﬁ Ly &
e 7en —e— L =5 o
Thie above diagrams show the details of
o) simply supportad eams B, and B F
18 constant throughout the length and ssme
for both the beams. The beams have the
same arca of cross-scotion and ihe same
depth. What 15 the mto of maximum
bending stress in 3z to that in G4
a A
Lo
c. 2
d 12
A0,
0 _'1_
| wh-= - - B-- .=« 1HIm
P AOL M E3
4
iﬂg H—p o~
N
Crass-soctions of 1wo boams A
= 200 e} and B (800 mir
shown in the [gure pives
al.

10g it

f tet .
N b
Eo N’ H'w, ape |~ ™ 1O Moy
e
SIS S
BN B

A pointan an elemant s stressed as shown
m the figure mwven above. What 15 the
vatue ol normal stress on e ablgue plans
EBE"

Ly
3]

iy
L]

L
Lh

6.

PR RE!
A 200 N
b, 375 Nonwr
o 180 Mg’
A 100 Nemanr
Twar lome columns Oy and Oy are made of
the sz inatenal, Celumn Uy has bath the
ends hinged wiile the eolinnn C: has ane
end hingzd and other erd fixed What is
the ratie ol the erideal load for thal
ot 27 accardisng to the Euler’s fi )

a. 2
b, '
o |
i

It &, and £ maximuin - angd
MINENUm  Strams, pectiveby, i fhe
neighbhokiioggol ¢ point in a stressed
at 35 e expression for

nuipad sleess?

_-f:'{e; - .z.-.yr]
|- u”
f:'{.r.'l_+,1f.l:::|
| — 1*

A car accelerales from rest toa speed of 14
mys and the energy spent oy doing this s L,
IT the car s furher gecelerated from 10
mes e 20 mes what is the amount of
eneryry by be spend Fanher?
a It
b ZE
¢ 3R
d 4E
A Bonzontai rod AR carries three londs of
Aftka, 70 kg and 100 ke at distances of
20 cm, 90 comoand 150 om respechively
from A whers ts hinged, Neglecting the
winht of tho rod, which is the pois ai
which the rod will balance?
a. A cm from A
b LESS om from A
¢ 1235 cmfrom A
d. 1325 e from A
A mnnding wheel rolates al 3000 mm.
W hen powat supply is cut off, the whoel

tops completely in 10 seconds. Whar s



the number of revolutions mada by the
wheel hefore coming to rest?

o, 30

b 100

v Sl

d. 250

57 A player catches o crickel kall of mass 0.1
ke moving with & speed ol 200 mes, 1f the

batl is in contact with his hand loc 001 s,

what 15 the impulse (approximate) exemed

by the tall on the hand of the pligyer?

a4 INs

ko A2 N3

c. Hi¥ Ms

d. 125 Ms

a8, Wwhich one ol e [dlewinr s a linear
reservioiy?

a. In which storage  volume  veries
himearly with Hme since initintion of
rainiall encess.

b In which ootflow rate varies linearly
with aloraye,

e Inowhich refease varies Tineurly with
in Flow rae.

d. Im which  swrage  volune  warie
lincarly with water swace elovation.

39 The rotation o a rigid hady 5 povery

§=15sn 2| whal is

W

veboclty at f =28

4 18 mdis

b o dTads

e &R radis

d. Zero

an. A0 k Hrhaving a radius of

pyvralion s ooty al 1000 .

he anpwlar nuamentum

Wt
| of the flvwhkesl abowt itz

ad

e 1000
d. 12000
al.

.

Bof id
Whar is the moment (opproximated of the
foree acting on a railway sign post shown
in the lgure given sbove aboul the point
!
a. 1135 Mm
b. 1205 Nm
c. 9E Nm
d. 13 Nm

40 kM

apmituce ol Bw resell uf bhe
st as shown in the

kN couple amsichnckwise

0 kN werbeal loree and a momeni of
70 kNm clockwise

A 12 Kp mass rgsts on a surface for which
the eocfficiant o the frietion 15 2 =015
Whai is the smallesl Joree that cun give the
mass an acceleration of 3 s [ Take g =
10 mis ]

a 120N
b 106N
o, BN
d. 54N

Mateh Tisr T owith List 1 oand selecr the
cormed] answer wsing B code @iven below
the lists:

List 1 {Inveatory Control Technique)

A XY ZF

B. ABC

O FMNST?

N Y ED

List Il {Basis of Ulassification)

1. Conswmption value
2. Value in storape
3. Criticality
4. Conswmption rate

A B C [}
A 4 3 2 [
. 2 | 4 3
&, 4 1 2 3



56,

7.

fal.

k.

d i 3 4 |

What docs higher standard devigtion imply

i cosl analysis?

a.  Highey uncertainty

[ Lower viicortantty

C. Moltihg e da wih unceranmy

d  Exua costs dare hhely

What dees the critical path sn FERT

reprasent”?

1. The stortesl path for lhe carlicsl
completion of the project

2.0 Fhe lonpest pathe of the network [
Lie interal o finad event

Salect the comcct answer osing the code

givan below:

a1 only

b 2 only

o Both §ognd 2

d Muother § oner 2

. 1
I ——
E ——1
E — v
4 3
—— —— —
i 14 2

Which are the cntical activs
chark slwwr: abowve?

i Avhivilies Bund E
b Activibnes A, D and
. Aciivibies
d  Activitip
in the |
il i

515, which oie of tha
itllowed by the  time
aclivilicy and probalilily o)
G

cimeal distrabution
wsson s discribution
A -distrihution

d  Binonual distribution

An equipmeny with a DBkl cosl ol Rs,
[CRIA0Y- 15 deprecmaned Dy the straighy e
methnd o Bs. 2005 at the end of § vears
The interest mle considered & 10% per
onnsn, What is the gonual st e the
mithod of straight fine depreciation plus
averige interest?

70

71.

13

Gl B
Fs 200N
By, 214tk
He. 22004
. Ry 2280
The three eonsecutive activities A, B oand
U pave abamative seils of NIME-DIREC]
COS5 [ eomtnbuiionsa as given below:

C p‘\.;,.-’a

=

T DC T
o 1 10
7 120 @
& 45 #

YWhar = the least
23 days”?
a 1

oonoo

I gelwork. e activily dugations
Ervett as ty {optumistic g 4
fsimistic tme) and bt (mest likeby

d. Mong of the above

The romzl durition and normal cost of an

activity  are 0 davs snd Bz 3500

respeclively  The cosl slope 15 Rs 750 per

e 10 the crash duration s 8 devs, then

what is the crosh cost of the activiny?

1. Rs 400k-

b, Ry, 300-

e Ba 600

do Nome of 1he gbove

Whan are drop manholes provided in a

sowlrast svslem?

d There s change Bom gravily sysiem L
PrUSSULS 5y sl

b, There s change in the elevauon of the
araungd beve

¢ There s changs o the digmeler ol the
REOWCT



4.

T3,

5,

T

TR

9,

e There s change m o the duechion of the al.

sewer lme

Where doees sloughing ocear”

a. Lot chamber

L. Bulogrel Goatiment wut

e Trickling filter

d. Seplic tank

Activaled sludgeas the

a. Resutant sludee removable from the
acration unit

b. Sludge setiled in the hummus tank
shidee 1m0 the secondary lank post-
aeration. rieh in rucrobial mess

d. Sludge in the secondary tank post-
aeration rich 1 mitriznty

What 15 the zone where hsh lile mught lend

L progressively dwindle whan wastewmer

s dischaged mto o siver, called?

o, Zome ol cegradation

I Zone of active deconrposition

o Zoneol mixing

. Zone of recovery

Whalt are leaping weirg?

# Sewigoe flow mensurng devices

b Storm resulatns

-

Velocity control devices

d. Sewer outlalls

What i the value of peneral
SOTFNAP weight ratin 1";:'1111' ;
biological treatment?
a. 11735
b, 1031
oo T)72345

o

(1ena

of  global

) and “:.(.h 1&51]&-;,11\, eh
2 and 50, respechively
O and CO-, respectvely
Whit e L valuwss of welaabl: 0
coneentration i residential  areas  for

confinuows cxposure durations ol 1 hour
and & howrs, respectively?

a dand 2 mg-"m'l RI

1 and 2 mg'm’
4and 6 masm’

S

Sand1 mg-‘m';

84.

Wl 14
hlateh List-l wilh Leil-I1 and selea the
come! amawer using (e code given below
the hsts:

List 1 {Polutinn control Equipment)

AL Oyelores

E. ESP

. Wet sorubbers

D. Absorbers

List IT (FPollwtant Eemoyed)

1. Oily oas cmissions
2, Coarse parilew.ate matler
3. Osades of nitrogen
4. Fine particolate ma
Y I4
a. 3 B )
h
e, #
d. 1 3
Th density for a highwavy is 1200

Y anid the average wohicle specd
L km e The average carbon monoxide
sion per vehiele 15 40 g% What & the
Wiree strength per unit lenpth.

a. 0.d gims
b, 0.C o:/my
. 1A gims
d. 1.2g'ms

An open evlindrical wvessel with  axis
vertical and filled with a liquid s talling
freely with an accelerztion p. What wall 11&
the ahsolts pressure at he base of the
vasnel”

a. Fgual to liguid colimn

b, Below almosphens pressure

¢ Above atmospheric pressuse

d. lkqual to atmosgpheric pressure

An n visad, incompressible and unilorm
Now about a stabwonary cylnder whose
axis 15 held perpendicular to “he Tow can
be simulated by superposiion of uniform
ow and which of the followwmna?

a. A sink aml a vortex

b. A doublet

e A vorlex

d. A doublet and 4 vorles

KAateh Ligt 1 with Lt [ and selec: the
coTeel amswer Using (e code given below
the ligts:

List 1 (Valve)



8.

ET.

35,

o0

A Shues sqalkqe

B. Iwair valve
CoAar reliet valve
U Eeflus vahve

List [I (YWhere Installed?) 9l.

Where syl mains branch off

2. In service pipe conneclion
3. Athigh elevation points
4, Al low level reaches

A 13 L} 1}

A £ ¢ I ol
i 1 3 4 2
Ih. 2 4 3 I
. ] 4 3 2
l. 2 3 4 1

Which vae of the following statements is
conrect?

In the lime-soda

waftening.

A Lime redaces catbonats hardacss while
soda removes non-cacbonate hardness

h. Cmly carbonate hardress is removed

¢. lime reduces non-carbonate hardness

PSS

while soda CE0Y 33 carbonate,,
hardress
d. Only  non-carbonate handnes
emircd -'
Which  concept of th

distribhintinng 18 1ead b erti
density?

a. Normal distribution Q.
L. Keclengular distribu
1011
e
tributiom
uralion o a waler
Iz E'_"
ble dizease in fish 02

cthamoglobimemia

idemic goiter

enee ol which one of the followmse 1in
water s the wapor caws of dopressiun,
paralvsis. blindness andsor itk defects™

A Cadmrum

h. Chromium

¢. Mlangancse

d. Mercury

Which i the heast sewear material o resist
Iwdroger. sulphide corrosion?

of  water i

i11ali4
Crlazed stonesare
(ilazed earthenwane
R.C.AC.
Brick masonry
“at & the cause of bulking of sewage”
Absence o micro-organisms
Low sludge volume index
Poor to ni] settlement of  miero-
arganisms
d. High organic leading

nEFe et FE

Wi are sheep loot rolles i = FINe
in zompacing claycy s

b,

2. ;

d s hros

L'ntr th of a clay soil can be

cambiciing wliclh & the

ane ghear tes:

Cyehic rasial tost

4. Slow dircet shear tzst

Releot the cmrect answer uging the code
given below:

a. lmd2ony

b, 1 andd
o, 2enly
d. 1.2and 3

Which one of the following shear tests on
a saturated clay sl gives a unique
cffcctive sroas Nlahr'™s cirelc?

a8, [Dramned traxial test
b. Uncomsolidated undrained lrasial test
¢ Consolidated undrained trisxial test

d. Consohdated driuncd tnasxoal test
Wouch wi he ollewwmy udlugonee the
beaning capacily of & circular Tontme on
clay, immediately afler conslruetion?

1. Size of the footing

2. Dl of L oot

3. Draned strenglh of the clay

4. Undramed strength of -he clay

Select the comeet answer usmng lhe code
given below:

a lmd?3l

b 1andd

¢, 2md 3



9.

ST

928,

9o

L,

ifal 14

e 2andd 101, Waen 12 3 sol mass sard o have cnoered
What is thz appropriate field test to the sobd phase?

deterrming  £1e in-gitu  undrained  shear a. When loss in wate: is not accompamied
strenath of a soft clav? by a correspending reduction in the
i, Static cone penetaticn test vaime nf enil mass

b. Stancard penciration test b. When reduction in the volume of the
o Plate load test soil mass i3 nearly equal to the volume

. ul waler Tost.
d. Vane shear test

A rafl foundation with a basement foor is
placed at a deplh of dm below ground
level The superstructure mposes 2 load of

. When the sonl mass becomes g

d. When the soil mass show
shearirg revistance ag the

150 k3w on the raft. The anit weight of is reduced. "
the soil i 20 kKMNm'. What are the valuss W2 Clensider the tollowing
of the gross and net loahne pressures on Lime stablizanon

the soi1l. respectively? 1. Diecrease in s

a. 230 kNem® 150 EN/m® 2. Increase in plas

L. 150 kNem®, 230 kNém® 3 :

=

e 150 KNfm®. 70 1dim® 1
d. 80 kNmE. 150 kN/m® W
The confining pressure and the deviator
siress  on a4 triaial  sample are.
regpectrvaly, 100 kMm® and 300 kA m®
What 18 the normal strags acting on the
plane of maximum shear stregg?
. 150 KN:m®

b 200 kNim®

o 250 kNim®

. 400 KNm®

An undisturbed soil sample,
unde goes a change in thicks
when subjected to a congg

fatemenls g1rven a»ove arc

d, 2.3and 4

A stratum of clay draining hoth at tog and
bottom  undergoes 30%  congolidation
under a load in € veaps. If an additional
drainage laver were present at the mid-
height of this clay stratum, what wou'd be
AT the time taken For 3P consalidaticom
MRS under the same load”?

of 30 k™m” The iratidd v o of the a. 3vears

sample i3 10, What is nge in the b, 4 years and 6 rionths
"y L ] ! ' - ) .

void ralio] i ¢ Z2wyears and 3 tomihs
a. (1

d. D yoars

b. 104, Whreh of the Tollowmng are the reasons for
b pre-eoschdalon of a clay laver?

1. Desiceation of upper lavers.
of the Following 15 cormecl in
[ ooore waler pressurc oo oaad
vz stress . in the sol qust below
botwm ol a pond dus W a4 2m sise in
water level in the pond?

Rising of water takle.

Remaoval of consirustion Toml
- Withdiawal of'a ehcier
gleet the comeet answer using Lhe code
ven below;

remans wnallered LGN
¢. Hothuizard o remar Wnaltemd

enstder 1ae following statements

2
3
4
B
a. u increases by 20 kMN'm* amd o f
b
e
d
(
1. Loess is ol volzame origin

remang unallered . 1.2and 3
h. #u increases by 20 kim  and o - 2 3andd
decreases by 20 kNim® o 13 and 4
eoow deereases by 20 kN'mS and o 1.2and 4



[ Eh

|7

|18

10

2 Loess smliz are unilormiy praded sil
size parhcles.

3 Climptic  changes  causc
swelling and shrinkage of 1oess,

++  Permeability of loess 0 harizonoal
direction 1s less than that in the vertical
direction.

velmical

Which of the statements siven above are
corree”?

a. land-
B 2umd 4
¢ 2and 3
d landl

March List-1 wirth Eist.i and selecr the
correct unswer using the code siven below
the fists.

List [ (Cansed

A Bronvnian movement

B, Soil yrading

(. Consistency

3 Sweetificalian

List Tl (Effect)

I Sal structwre
2. Flow index
3. Coefficient of curvature
4 Particle settlement
A 133
a 4 i
1 - 3
C. <4 3
d 7 |

Which vne of the fullds 5 Hwe oo
achve clay maten i

a  Ma=lhe

Iy sund deposit. What is the pore
ter pressure 15 m above e wiater
Table?

a5 kN

b ISENm

e 5 kNt

d. 15 kN/m?

Which onme of the [ollowing is the
appropriate field 1est for assessing the

LY

§iof i4
angle ol sheanng resistence @ of o deep
seated sand deposit?

a  Vare shear rest

b Platz load test

c. Standard pesetration test
d. Srane cone penetrahen test

Y
FE
- )

il
and same
lenpth  are  con series  and

suljjecicd o oa for

rand 1, are the ewtreme shear

44 'ga' S kM Em ]
T N

; I P —
LT

A ngid bar AB s louded wz shown above,
What 15 the deflection of poims B of the bar
AB?

a. Y mm

b 18 me

coo23 ma

d. 27 wun

Tiow 15 3 rruss, which undergoes rigid
body ranslation for an arbisrary  load,
¢lassified as?

4. LDeternunate structure

b Crenenericaily onsteble strucune

¢ Sraucally unsiable stiuclure

d. Structurally unstable struciure



213, Asserdion (A): The troflic rolary 1 an 117,
etfective tralfic management svelem if the
trallie volume excecds 3000 vehicles hour,
Eeason (R): In rotary merging, weavilg
anl Aiverping Hproe
management.
a Hoth A and R are indivicuall true snd
R is the aorrecl explanatiom of A,
L. Polbh A and E are individually true bul
E 15 nol L1g correst explanation ol A
e Aty true but [ is false
d. A s false but K is trus
14, Asseriion (A Punction of a ballast 1 Lo
tranzul and distribute the wheel loadings 11%.
trom the base of the sloepes to the sab
gracle.,
Rewson (R): Well-graded closely poacked
crughed stomes are used te perform the
required tunctions of ballast.

traf-ic

2. [oth & and L are indivicually troe and
I2 s the correct explanation of AL

b. Both A and E arc individual'y true tul
K 15 noil (e correet explaaation ol A

¢ A bue bul Kos talss

d A is falac but 12 45 truc

150 Asserfinon (A Mosl floatmg ships

more stable m piiching (about Tongitugdy

sy thin m rellmg {about lon

als )

Reavon (R). Ships have

than width,

a. BPoth A and It are i
R i the correct explififetiogicd A

b. Bolh A and Egare individual'y true bt

16, - f : The unil load method ie 120,

a. Moth A and K are indivicually true and
R 1 the correct explanation of A

b. Lolh A and K are individualy true bul
E 15 noil (e correst explanation ol A

oo os e bl Ko false

d. Adsfalsebut K is trus

1400 14
Aweertion (Ak In precedence nelworks
(ACRN, start oat can be cyual 1o fimsh
IMoal 1n certam msianeus,
Reason (K): Iaterrupt.on between the split
sepments ot appmpriate activities s the
distinpuisting festure ol a precedence
nework.
. Buolth A and R are individually roe and
R & the correct explanation of -
b, Both A and K are indivichea
R ® not the correel expla
e Aig e but Ris Dilse
d. Az falke bl B e n
Assertion (A)
oplimal  cross-se

n of the
lransImiss1on

meéin 18 inds of  hydraulic
pe-lformancg and struffiira’ behavior,
Reitson oI capacily 15 a Cirect
lumety ‘draulic rads,

d K are individually true and
coerect explanation of A

K not the comrecl explanalion of A

Yois fmee bat B Lalse

d. A s False buotl B oas troe

Axxertion (A) Tap water should rniet be

used lor caryimg out the sermeabiliy tost

om so1l,

Ruison (B): Tap wata conlams dissulvil

salls which obsiruet the low during the

tesl,

a. Both A and R are indradually true and
It & the correat explanation of A,

b. Both A aml R arg indivaidueally rue but
R B not the correct explanation of A

e As truee but B s Gilsc

d. A s false bul K is oue

Ascertion (A} Lowening ol water table

resulls in setllement of the ground surlace.

Reason (R): Lowerme of water table

canses deereases m effeetive weigat ol soil

besween the origiral and fnal poations of

the waler table

a. Both A and R are indradually true and
R s the correel explamation ol A,

b. Both A and R are individeally true but
R B not the comect explanalion of A

e Mg toee but B s Gilse

Aw false but K s true

P






